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Questionl:-Who wrote the book Smarana Manjari?

A:-Kuttipuzha Krishnapillai
B:-Moorkoth Kumaran
C:-Swami Ananda Theerthan
D:-T.K. Krishnaswami lyer

Correct Answer:- Option-A

Question2:-Which of the following personality, who played most important role in
Kallumala revolt in Kerala?

A:-Anna Chandi

B:-Lalitha Prabhu

C:-Arya Pallam

D:-A.V. Kuttimalu Amma
Correct Answer:- Option-C

Question3:-The Freedom fighter who died on a hunger strike following the Salt-
Sathyagraha in Kerala?

A:-Moyarath Sankaran

B:-T.R. Krishnaswami lyer

C:-Karur Neelakanda Namboothiripad
D:-Kunjhiraman Adiyodi

Correct Answer:- Option-D

Question4:-Who is the auther of the book Ratnamanikal?

A:-Ayyankali

B:-Vaikunda Swamikal
C:-Kumaragurudevan
D:-Mannath Padmanabhan

Correct Answer:- Option-C

Question5:-Adilahala was a revolt against the upper classes in Kerala in Mediveal
period. Who led the revolt?

A:-Ayyankali



B:-Chattambi swamikal
C:-Kumaragurudeva
D:-Vagbhatananda swamikal
Correct Answer:- Option-C
Question6:-In which English missionary who started the first mixed school in Kerala?
A:-Rev; Dawsan
B:-Rev; Joseph Peet
C:-Rev; Charles Mead
D:-Rev; Thomas Norton
Correct Answer:- Option-D

Question7:-The following are the two disciplines of Sree Narayanaguru who
attended the Vaikkom Sathyagraha in 19247

A:-Kottukoikkal Vellayudhan & Swami Guruprasad
B:-Ramananda Swamikal & Swami Sathyavradhan
C:-Chaithnya Swamikal & Swami Guruprasad
D:-Swami Sathyavradhan & Kottukoikkal Vellayudhan
Correct Answer:- Option-D

Question8:-Who introduced punctuations marks like full stop, coma, semicolon &
question marks in Malayalam Language?

A:-Benjamin Bailey
B:-Arnos Pathiri
C:-Herman Gundert

D:-J. Dawsan

Correct Answer:- Option-C

Question9:-The following revolts are arranged in chronological order
(a) Paliyam Sathyagraha

(b) Kuttamkulam Sathyagraha

(c) Kadakkal Rebellion

(d) Kallara Pangode revolt

A:-(b)(a)(c)(d)
B:-(d)(c)(b)(a)
C:-(a)(d)(b)(c)
D:-(c)(d)(a)(b)
Correct Answer:- Option-B

Questionl10:-Find out the social reformers of travancore who participated in the Salt
Sathyagraha in Malabar?

A:-P. Krishnapilla, K. Keshavan Nambiar, Moyarath Shankaran, E. Moidu
Moulavi



B:-K. Kelappan, K. Keshavan Nambiar, Amshi Narayanapilla, K. Kumar
C:-P. Krishnapilla, K. Kumar, N.P. Kurukkal, Ponnara Sreedhar

D:-E. Moidu Moulavi, K. Kumar, Amshi Narayana Pilla, Vakkom Abdulkadhar
Moulavi

Correct Answer:- Option-C

Question11:-Which article of Indian Constitution deals with the consolidated fund of
India?

A:-Article 266
B:-Article 262
C:-Article 269
D:-Article 276
Correct Answer:- Option-A

Question12:-Which Amendment of the Indian Constitution described that the total
number of ministers both Union and State Government including the P.M. and C.M.
respectively should not exceed 15% of the total strength of house?

A:-97 Amendment
B:-92 Amendment
C:-94 Amendment
D:-91 Amendment
Correct Answer:- Option-D

Questionl13:-The Article 371 F Contains special provisions with respect to which
state of India?

A:-Nagaland

B:-Manipur

C:-Arunachal Pradesh
D:-Sikkim

Correct Answer:- Option-D

Question14:-The state food commission comes under in which section of Food
Security Act in 20137

A:-Section 13 of National Food Security Act 2013

B:-Section 11 of National Food Security Act 2013

C:-Section 16 of National Food Security Act 2013

D:-Section 19 of National Food Security Act 2013

Correct Answer:- Option-C

Question15:-The transplantation of Human Organ Act passed in the year

A:-1991

B:-1994

C:-1992



D:-1997
Correct Answer:- Option-B

Questionl6:-In the context of educational objectives, what does "'cognitive domain"
refer to in Bloom's Taxonomy?

A:-Physical skills and coordination
B:-Knowledge and intellectual abilities
C:-Social and emotional aspects
D:-Affective skills and values

Correct Answer:- Option-B

Questionl7:-Which of the following is an example of an instructional objective?
(i) Students will appreciate the beauty of classical literature

(ii) Students will join a local sports club

(iii) Students will have fun during the field trip

A:-Only (i)

B:-Only (ii)

C:-Only (iii)

D:-Both (ii) & (iii)

Correct Answer:- Option-A

Questionl18:-Which curriculum organizational approach emphasizes the integration
of various subjects around a central theme or project?

A:-Subject-Centered Approach
B:-Correlation Approach
C:-Interdisciplinary Approach
D:-Experiential Learning Approach
Correct Answer:- Option-C

Question19:-Which aspects of learning do the lowest four orders in Gagne's
Hierarchy primarily focus on?

A:-Cognitive aspects
B:-Affective aspects
C:-Psychomotor aspects
D:-Behavioural aspects
Correct Answer:- Option-D

Question20:-Which type of validity assesses whether the assessment measures
what is supposed to measure comprehensively?

A:-Content validity
B:-Construct validity
C:-Concurrent validity
D:-Predictive validity



Correct Answer:- Option-A
Question21:-aueeuyp milavomosiled Demorgan's Law @oee @oemeamailad agmoeny’ ?
Ai-avi=u
B:-4n¢=¢
C:-zr5=4uB
D:-4u4=4
Correct Answer:- Option-C
Question22:-Partial order Relation emo covogpom@ agm?
A:-Reflexive
B:-Symmetric
C:-Antisymmetric
D:-Transitive
Correct Answer:- Option-B
Question23:-am mungmusERoBlemo 8 AOBIEMo Mg, 'a’ ErWI@ almiden.
A:-3v3a2
B:-28,2
C:i-38,2
D:-2v3a2
Correct Answer:- Option-C

Question24:-7 oj@eu@ome 5 Mflego 6aldmm 8@ Qal@ mlawe 3 ojCauU@OT. 2 Mfldg. GrsERlw
Mdlolo® af)©@ AT GleemFE 0!

A:-350
B:-360
C:-420
D:-380
Correct Answer:- Option-A

Question25:-eeg queaue:ges LCM 40, mu.eaueud ooiaiss ratio 4 : 5 eoesmslcd muealdges
QREE DHOW@)?

A:-20
B:-24
C:-18
D:-16
Correct Answer:- Option-C
Question26:-am @pdrvEnIsSOBIOMO QM. 12 CM @resmElm @R@IleMmo AIGadleel almiden.
A:-36~
B:-72~



C:-48~
D:-144~
Correct Answer:- Option-B

Question27:-agilaom muaandye 2:2+9z+7=0 ©MO NOOLS «f @resm®I@ L, 3 roots erw alaom
TV AR®?

A:-75249542=0
B:-9s2470412=0
Ci-65249z411=0
D:-120249547=0
Correct Answer:- Option-A

Question28:-.2 em Euler's m@anse palewouilaf e+t @aioolanssloo slgamo
A--i+1
B:-1-i
Ci--i
D:-i
Correct Answer:- Option-D
Question29:-jwx)=22+300)=22 @REEMBIJ (fog)(3)=
A:-20
B:-21
C:-22
D:-23
Correct Answer:- Option-B
Question30:-"TALLAHASSEE' agam e ag@ ol @aleclenom oelgpo?
A:-8,31,600
B:-7,28,600
C:-8,12,000
D:-7,68,300
Correct Answer:- Option-A

Question31:-am muaame aoslg (Square Matrix) emo @r.naBRUS aggo aRAlss
mealmsoeemes@d (Real number's), 447 awm 206’ @RWIGlEs.

A:-Symmetric matrix
B:-Hermitian

C:-Skew symmetric matrix
D:-Skew Hermitian
Correct Answer:- Option-C

Question32:-259x = 5 (mod 11) emo some. (solutions) agmmoem?



A:-x = 5 (mod 11)
B:-x = 15 (mod 11)
C:-x =10 (mod 11)
D:-x = 0 (mod 11)
Correct Answer:- Option-C
Question33:-zz 3 4 3 [£] = 0 agm quaQsOwlcd = =

A:-23

+23
2

ox}

23
2

D]

O O w

125
T2

Correct Answer:- Option-C

Question34:-cealw VRO YEBRBEOS Mo AX =B & STVORJHUMBMY OENRIHHIM
(consistent) ?

A:-Rank A < Rank (AB)
B:-Rank (A) > Rank (AB)
C:-Rank A = Rank (AB)
D:-None of these

Correct Answer:- Option-C

Question35:-a, b agarla esoeew. (Relatively Prime) eowiges ajdep muosiyeud
@REEMEBI@D gcd(a+ba—b)=

A:-3
B:-2
C:-0
D:-4
Correct Answer:- Option-B

Question36:-am cunaoe aoslg (Square matrix) sodeomonsmad (orthogonal) moslgy
@REEMEGIMD detd =

A:-0
B:-+2
C:-x1
D:-#i
Correct Answer:- Option-C
Question37:-em Hermitian aoslglemo somy (Trace) ageajogo @R @lE50.
A:-Real
B:-Complex
C:-Zero



D:-emogy
Correct Answer:- Option-A
Questi0n38:-A:[é%z] agan 3 X 3 moslgleado soay (A) (Trace (A)) ag@wosm?
A:-4
B:-6
C:-9
D:-11
Correct Answer:- Option-D

Question39:-A agom 20€lglemo agnend Qoalymy (Eigen Values) ».2:.. .0 @aroeemsslad
)\1./\2.A3.....>\n=

A:-Trace (A)

B:-Rank (A)

C:-det (A)

D:-aamongy

Correct Answer:- Option-C
Question40:-A=[?§é] oo 2oSlglomdo 0oe =

A:-2

B:-1

C:-0

D:-3

Correct Answer:- Option-D
Question41:-lim = &m0 gele

A:-1

B:-0

C:-log 5

D:-log,5

Correct Answer:- Option-C

Question42:-f<x):{lfigsf if 570
Kif =0

agam function continuous eremngss K ges alel
A:-0
B:-1
C:-
D:-
Correct Answer:- Option-C
Question43:-y= @arwom £ &mo gel



A:-L(i-1nz)

B:-L(i-1nx)

C:-L(ins-3)

D:-L(inz-1)

Correct Answer:- Option-B

Question44:-z +% =1 agam ellipse oo latus rectum eao lgo ag@?

A:-22

B:-z

C:-%

- 2
Correct Answer:- Option-B
Question45:-2 - ¥-1 agan hyperbola ges eccentricity og@?
A-fi4E
B:-i-2
C:-fE
D:- ez -1)
Correct Answer:- Option-A
Question46:-c={zyys>0y>022+y2<1} @REOEMEBIIT
g/ﬂy%ﬂdy 6080 galk
A:-
B:-¢
C:-&
D:

w3

Correct Answer:- Option-C
Question47:-am ellipsoid 5+%+%=1 emo volume @oe¢ alomai agmosm?
A:-4rabe
B -dmsbe
C:-2mgbe
D:-2rabe
Correct Answer:- Option-B

Question48:-r=zsin30 agm CUrve eomo aggp 00p saes. area &ges oo

A:'g

sin?36d8

B:-¢

sin236d6

Ol O _wld



\wls

C:-

5in?36d6

D:'2

sin?36d6

o\_'mlﬁ o

Correct Answer:- Option-B

. 7
Quest|0n49:-/mv9c§md6 =
0

A:-
B:-1
Ci-r
D:-2x

(SIE]

Correct Answer:- Option-B

Question50:- jx)=-2s3-922-12241 agemn fuNCtion increasing ey interval ag?

Ai-—2<z<-1
B:-—2<z<1
Ci-—1<s<2
D:-1<z<2

Correct Answer:- Option-A
Question51:-5_ {10, ci} agem Set &m quosnITWlal @069 aloQMARIG vdle®?
A:-S bounded eryey
B:-S unbounded eryermy
C:-S bounded above ao@o. @remy
D:-S bounded below ao@e. @
Correct Answer:- Option-A
Question52:-r={11+}1+5+5...} agam S€t emo supremum go. iNfimum oo @0
A-SupT=1,infT=1,
B:-SupT=¢infT=1
C-SupT=2,infT=1
D:-SupT=1,infT=0
Correct Answer:- Option-C

il ereemesslcd ﬁlAn A ISP alOQYMDIW aB®?

Question53:-4, =]
A:-Closed set
B:-Open set
C:-Null set
D:-None of these

Correct Answer:- Option-A



Question54:-5={L+imnen}
@reemElmd S 6mo aggp limit points 9. @<l eadan set

Ai-¢

B:-{0}

Ci-{h=men}

D:-{1}

Correct Answer:- Option-C
Question55:- in [(¢)(2) ().

es allel
A:-0
B:-1
C:-e
D:-.
Correct Answer:- Option-C
Question56:-v,=%sin 1 @REMBIG > v, agam SEries
A:-convergent erem
B:-divergent @reny
C:-comparison test fail ere:ame
D:-comparison test gawoullemond aidley
Correct Answer:- Option-A

Question57:-e0m eere statements  adlwemless
(i) series Yin L divergent eps:me

(ii) series g a+5a5+ma+-- convergent erysmo.
)BT ®IOY AlOQMAURI@S V@] aG®?

A:-(i) oo (ii) 9o BEIIB:D
B:-(i) oo (ii) 2o 6mqommo
C:-(i) vomlxyo (ii) OOQo @R
D:-(ii) vedlayo (i) OOQo @R
Correct Answer:- Option-A

Question58:-som eere’ statements emosses

(i) Js@=sin L agem function (e.«) agam interval @@ uniformly continuous ey
(if) s==sin 52 agem function (@) agam interval @@ uniformly continuous gy
@969 aloQMAIQIGS VAIWIWD ARG ?

A:-(i) oo (ii) 20 ©®QOBMD

B:-(i) oo (ii) ®o veclos:me
C:-(i) 00@o oEI@OB:MD
D:-(

i) 20@o VoElIE:ME



Correct Answer:- Option-B
Question59:-(g)k:1 @M @Rk eaidle positive integer epw K agmosm?
A:-2
B:-4
C:-6
D:-None of these
Correct Answer:- Option-B

Question60:-1uw? agom@ cube roots of unity erwocd

wn 1 wh

agem determinant eado alles
A:-u2
B:-w
C:-1
D:-0
Correct Answer:- Option-D

Question61:-2i + 4j - 5k, i + 2] + 3K ool eQgQe86s @&E MULmEac® Qg eIRd
AR@96M7?

A:-3i + 6) - 2k
B:‘%H—%j—%k
C:-4i-j + 3k

Di-Ai- Lok
Correct Answer:- Option-B
Question62:-moee esogomidlesmaeiad mldqalalsiejoom® agamosm?
A:-ats
B:-ax28
C:-(3ax4b)aa
D:-(a2b)a
Correct Answer:- Option-C

Question63:-aiz agariar 3 OQIBQSUD @RYEEMEIDS ax(5xz)=

D:-spaiewomongy
Correct Answer:- Option-B

Question64:-u=(asy-22)i+(c?+2y2)+(v?-as2)k @@ irrotational eayd eryesm®lcd 'a’ es aflel
B06ME>



A:-0
B:-1
C:-2
D:-4
Correct Answer:- Option-C

Question65:-C agam aigo z=itfy=1t2z=2t0<t<1 agam SIS MBqllsf@leamosssslad f4:cyzdx
B 6eMgallslend

A:-S

Correct Answer:- Option-D

Question66:-%+3%+aj—g+y:x af)M  AWlaNOMaUy@ TLACIGOBIOMBO BoBWA, AWl eal
af) @@oem?

A:-3,1
B:-1, 3
C:-3, 2
D:-2, 3
Correct Answer:- Option-A

Question67:-v=s" agn® 2" -Try'+15y=0 QoM WlaNOMaHUY®D TLVAQIGIOBIHMO al@la0d@o
@REOMBSIE M 6o allele:ud oReO®L0.?

A:-3,5
B:-2,5
C:-2,3
D:-0, 5
Correct Answer:- Option-A
Question68:-v'=-25v agiom AUlanoMBauy@d TVAQDGIOBIOHMBO AlBla0I@e BT
A:-y=s2tc
Bi-y=—s2+4c
Ci-y=es24c
Di-y=es?tc
Correct Answer:- Option-C
Question69:-moee e6:05eMElERMAIRIG af&og @RRPOD Ul00MaHIE MVAAE: e ARMIE?
A:-(22+3)dz+(2y-2)dy =0
B:-(25+y2)dz+2zydy=0

C: ~(ycosz+2ze¥)dr+(sinz+22e¥-1)dy=0



D:-(2z+4y)do+(20—2y)dy =0
Correct Answer:- Option-D
Question70:-v+5v+6u=0 agm WlaDOMaUD TVAAUIGITTTHNOMO al@la0I@o B>I6NOE>
Ai-cle2qcye3t
B:-ciet4cye-3t
Ci-cle2t4cedt
D:-cie2t4c et
Correct Answer:- Option-A

Question71:-oaclesom (@I OBHEBBEOS BOMBAUTIDOMo S.D. (Standard Deviation) s2ms
@oogomeaud : 2, 6, 3, 5, 4

A:-2
B:-4
C:-s
D:-»
Correct Answer:- Option-D

Question72:-am adleslmd a8m GInflel e:Sleudes eiEls] 2033808 MMICIEBM. MW BN :
20RES - 0-10 10-20 20-30 30-40 40-50
aoool ;4 5 20 16 10

A:-20
B:-27.4
C:-29.18
D:-32.5
Correct Answer:- Option-C
Question73:-a0wy < 20wPEe < BadlMe GRHHEMBITM @IOY AIOQYMADIEE BEICVT?
A:-eannmildlal mpemay
B:-emundlar TREDTY
C:-avas€ley uwlmdleniysad
D:-spaiewomongy
Correct Answer:- Option-B
Question74:-ayemqy emalsleniress cnnodgel @69 He:05oBIRlERMARIM ag@osam?
A:-ﬁlzﬁ—g
B:-ﬁlz,’f%
Ci-p,=12
D:-5,=3
Correct Answer:- Option-A

Question75:-a8m eaislold 1 god 25 eeWss «geR®@ MoaB:u3 606EIMd. BIEO B.alClw



&SaIMIlod ng)gcoﬂmﬂ%ma". O3 Mo EMILMIO® BO@EMNo af)FOMITI, GO GREILWY TVo6L) GRH:OSS
LI ) ?

Correct Answer:- Option-B

Question76:-am muemilicd 4 SO alg@Ege 9 4JaIM al@E:g. 26ME. TVl W B8 alaoy
af)SO @@la] GRE® MW e MledHalg|TlREwRH. BT Al &S] afFTD. afFOD 2 AlIOBSo
Qo] GRYAUIMSS TVOWYD af)@WIEM?

Correct Answer:- Option-C
Question77:-4 @o B @ alemeEalGRLAOD TVEALERUD @RYEEMESITS P(AUE)=
A:-P(4)+P(B)
B:-p(a)p(B)
C:-pa)p(%)
D:-rB)P(4)
Correct Answer:- Option-A

Question78:-a® ®:g.noti@d 2 S:5legems. oD &5l ERME:S AVEMEITE Egmiomiens 2
HSlSo BREMBSIHUY BYAUIMESS MWD af)@WIEM?

A:-L
B:-1
C:-
D:-.
Correct Answer:- Option-D

Question79:-aws sl 9-2:00 gomild 30 @rMegleg. 20 oasmasieaqas. 10-::00 gomia 15
@RENME:S| B0 25 OalMBHSlHSPENE.  E6NE Gold Mmoo 6060 B:5lH:es Allde HDEEETMFOMITS
HOEEENSOO® B GRYEMB:SEVQo BT EalMH:SIEWQ. @RHAUIMSS TLIWID af)@IET?
.2l
40
B:-%
C:-3
D:-
Correct Answer:- Option-A

Question80:-r(4)=a,r(B)=6P4nB)=Cc @REsMBI® P (A/B) ag@wosm?



1 1
o0 =1

oo w>

1
Qlo~

Correct Answer:- Option-B

Question81l:-xy agar] aleemud melejes 003 alewged muaneimwwsmome 0.3 @rwomd 2x,3v
agamlal @aile)8s $:008aleEemd MLAnENIML YEMIB:o @)E:o.

A:-0.6
B:-0.9
C:-0.3
D:-0.4
Correct Answer:- Option-C

Question82:-'r' agam@ @008 alleLEB TVANNIMLYEMIE. @RYSEMEID byzbzy gl MVAOLD®
LEMIBEBBREES WAV BOWYo @6

A:-r

B:-r2

C:-1

D:-spaimileenmengy

Correct Answer:- Option-A

Question83:-20 (@IOBEBBEOS TLRIW® Al HEIMOBIeR! EENE MWD CEEIBGUS
10y+72-4=052+9y-1=0 afVIQUDIEM. X MO BOWo @6’

A:-1
B:-2
C:-3
D:-4
Correct Answer:- Option-B

Question84:-am @rMIL® 21000 X 6O TVRIQKMI CQINMI aRdhBGe P(x)=Er=123 @GO af)Bslcd
K ges aile @rR)6M.

A:-6

B:-12

C:-18

D:-24

Correct Answer:- Option-C

Question85:-a@m masmwe. game malem agclgemoud eidesam ORIGSOS af)sRODTIOMO LEMI® @Joileu
af) @@oem?

A:-1
B:-1.5



C:-2
D:-2.5
Correct Answer:- Option-B

Question86:-am @s@ 2EAIW X OO TVERIAKMI TVIMBDI aRlB:Go MIOY AlOQYTO
Fa)={}1<z<o,

0, 26ggp0lsgms:
P(X>4) = @R W@lEs0

1 1
ool [N

oo w>

1
oolue

Correct Answer:- Option-D
Question87:-x emo ayol@ome V(X)=3 af@I@ V(2X+4) af)@I@lER0?
A:-3
B:-6
C:-9
D:-12
Correct Answer:- Option-D

Question88:-am mgy njmua:ovienl 8@ @l B:06MM @S] alluod:d:ud
MVeEIQIMIQImEEM. @Ry,

A:-ealoemuosm
B:-eeenecmodlowd
C:-gemleande

D:-emodawd

Correct Answer:- Option-A

Question89:-am e26iealn|dlmd 10 ealorimrRU3 D6E. 8060 E210BKOBIMme dmil@lesm moal

OOMEEREIT BN VAIQYDME. @RYEM. BRIV OTMPEERUY DDA .4|EBIIT VEIYOTME. LIEIEBMTIOMBO
af)SROTOMO MW g @IV @lER0?

A
B:-
C:-
D:-?
Correct Answer:- Option-C
Question90:-emodaad Qigomledo TRADTIOMO Yemomso @MR)6M.
A:-1
B:-0
Ci-vns



D:-3
Correct Answer:- Option-B

Question91:-7 alaie:?d @rsEilw 8@ quackloled amlare arlaj 3 @YW aoomiigeud
ODOOETMFERCMNIOUD MLOWIRID MIMNIBHEOS ag)ehRo ag)©@?

A:-21

B:-10

C:-35

D:-210

Correct Answer:- Option-C

Question92:-avomilud aowpomlendo amleoms. ¥ @R momilud AOWPEBTIEMO BOMEafluos:
@)@,

Correct Answer:- Option-A
Question93:-8 mum@®omomeBgss 8@ ee®-ady almesmaTilemo mowye @6,
A:-4
B:-8
C:-16
D:-64
Correct Answer:- Option-B
Question94:-t; agm VIEMEo b A NEMBEVMEIUB BHOYBGUARIB:MND af)Caloud?
Ar-v(n)=V(ty)
B:-vin#v(zy)
C:- V(1) <V (1)
D:-v(t)>V(t)
Correct Answer:- Option-D

Question95:-F agam@ (M72) LI ®OROMEERUE 988 F allMEEMAIEEMEIM®, + afmoy
MUIOQRIMEBRUB 988 F Qllm@eme @R)Wl@lds.

A:-(nimy)

B:-(i)

C:-(nam)

D:-(-rm—n2)

Correct Answer:- Option-C

Question96:-a8m aldle:@aiMo aICleUMOTIYES HEDMQOW @BMVIU alPlS:@a MO
le:@lEIOMSEBMM @I@BROMAEM



A:-o@0 | allvos

B:-@o Il alliosy

C:-redlwow dlmaome
D:-saie@omoag)

Correct Answer:- Option-B

Question97:-: almwsmmm@ »  ruIe@®IRIMEERUW 988 6@ ¢ Qllm®emMe @R, SMTIEMO QTIWIM.
V()=125 @RI n» 60 Qllel @6,

A:-10

B:-8

C:-6

D:-4

Correct Answer:- Option-A
Question98:-meo | allved musealesmM@ltess Mu.EIAORes @Sl alleiosny

A:-avilsoeieasiel

B:-alleayesm caeual

C:-aidlesem s

D:-avoduns oel

Correct Answer:- Option-D

Question99:-x, X, X5 X:  agarlal 20w # @RH® 8@ MaYel e aggoriges e momigoe.
®I6¢ alOQMAIRI@ Ml » HABO WlaHYBUNEMdEre HMOEEVINGLBHE:

A-T=3X-X,+4X3-X,
B:-T=3x,+X,-4X3+X,
Ci-T=2X+ X+ X3-2X,4
D:-T=x+3X,-2X3+X,
Correct Answer:- Option-B

Question100:-aneodgdlem &dlaf muomiglad aironigas agaimd allaiessrg. Mg muodlesam
WEM &6

A:-dllayesinemeso
B:-crudledileinemdse
C:-0800906M b0
D:-alegoqltnemdso

Correct Answer:- Option-D



